

Existence of positive radial solutions for a superlinear semipositone p -Laplacian problem on the exterior of a ball

Quinn Morris* and Ratnasingham Shivaji

Department of Mathematics and Statistics,
University of North Carolina at Greensboro, 116 Petty Building,
317 College Avenue, Greensboro, NC 27402, USA (shivaji@uncg.edu)

Inbo Sim

Department of Mathematics, University of Ulsan, Ulsan 680-749,
Republic of Korea (ibsim@ulsan.ac.kr)

(MS received 22 March 2016; accepted 25 June 2016)

We prove the existence of positive radial solutions to a class of semipositone p -Laplacian problems on the exterior of a ball subject to Dirichlet and nonlinear boundary conditions. Using variational methods we prove the existence of a solution, and then use *a priori* estimates to prove the positivity of the solution.

Keywords: semipositone; p -Laplacian; nonlinear boundary conditions

2010 *Mathematics subject classification:* Primary 35J92
Secondary 35J20

1. Introduction

We study positive, radial solutions to equations of the form

$$\left. \begin{aligned} -\Delta_p u &= \lambda K(|x|)f(u), & x \in \Omega_e, \\ u &= 0, & |x| = r_0, \\ u &\rightarrow 0, & |x| \rightarrow \infty, \end{aligned} \right\} \quad (1.1)$$

and

$$\left. \begin{aligned} -\Delta_p u &= \lambda K(|x|)f(u), & x \in \Omega_e, \\ \frac{\partial u}{\partial \eta} + \tilde{c}(u)u &= 0, & |x| = r_0, \\ u &\rightarrow 0, & |x| \rightarrow \infty, \end{aligned} \right\} \quad (1.2)$$

where $\lambda > 0$ is a parameter,

$$\Delta_p w = \nabla \cdot (|\nabla w|^{p-2} \nabla w),$$

*Present address: Department of Mathematics and Statistics, Swarthmore College, 500 College Avenue, Swarthmore, PA 19081, USA (qmorris1@swarthmore.edu).

$p > 1$ is the p -Laplacian, and $\Omega_e = \{x \in \mathbb{R}^N \mid |x| > r_0, r_0 > 0, N > p\}$. We assume that the reaction term $f: [0, \infty) \rightarrow \mathbb{R}$ is a non-decreasing, continuous function such that

(F1) there exist $A, B \in (0, \infty)$ and $q \in (p - 1, \infty)$ such that $A(s^q - 1) \leq f(s) \leq B(s^q + 1) \forall s \geq 0$ (which implies that f is p -superlinear at infinity);

(F2) $f(0) < 0$ (semipositone); and

(F3) there exists $\theta > p$ such that for s sufficiently large, $sf(s) > \theta F(s)$, where

$$F(s) = \int_0^s f(t) dt.$$

The weight $K: [r_0, \infty) \rightarrow (0, \infty)$ is a continuous function such that

(K1) there exists $\mu \in (0, (N - p)/(p - 1))$ so that $K(r) \leq 1/r^{N+\mu}$ for $r \gg 1$, and

(K2) $K(r)$ is decreasing on $[\tilde{R}, \infty)$ for some $\tilde{R} \gg 1$.

When analysing (1.2), we further assume that $\tilde{c}: [0, \infty) \rightarrow (0, \infty)$ is continuous. Here $\partial u/\partial \eta$ is the outward normal derivative.

Applying the change of variables $\zeta = |x|$ and $t = (\zeta/r_0)^{(p-N)/(p-1)}$ transforms (1.1) and (1.2) to the boundary-value problems

$$\left. \begin{aligned} -(\phi_p(u'))' &= \lambda h(t)f(u), \quad t \in (0, 1), \\ u(0) &= 0 = u(1), \end{aligned} \right\} \tag{D}$$

and

$$\left. \begin{aligned} -(\phi_p(u'))' &= \lambda h(t)f(u), \quad t \in (0, 1), \\ u(0) &= 0, \\ \phi_p(u'(1)) + c(u(1))\phi_p(u(1)) &= 0, \end{aligned} \right\} \tag{NL}$$

respectively, where $\phi_p(s) = |s|^{p-2}s$,

$$h(t) = \left(\frac{p-1}{N-p}r_0\right)^p t^{-p(N-1)/(N-p)} K(r_0 t^{(1-p)/(N-p)}),$$

and $c(s) = (r_0(p-1)/(N-p)\tilde{c}(s))^{p-1}$.

Conditions (K1) and (K2) imply that

$$h \in L^1(0, 1) \cap C(0, 1] \quad \text{and} \quad \hat{h} = \inf_{t \in (0, 1]} h(t) > 0.$$

Note that if one assumes that $\mu \geq (N - p)/(p - 1)$, then $h \in C[0, 1]$ and is a simpler case to study. Here we allow $\mu < (N - p)/(p - 1)$, which may result in h being singular at $t = 0$.

Now let

$$g(s) = \int_0^s c(t)\phi_p(t) dt.$$

We will assume that $c(s)$ satisfies the growth condition:

(C1) for θ satisfying (F3), we have $c(s)s^p < \theta g(s)$ for s sufficiently large.

By a solution u to problem (D) (or (NL)), we mean a $u \in C^1[0, 1]$ and $\phi_p(u') \in W^{1,1}(0, 1)$ satisfying (D) (or (NL)).

We will establish the following results.

THEOREM 1.1. *Assume that (F1)–(F3) and (K1), (K2) hold. Then (D) has a positive solution for $\lambda \approx 0$.*

THEOREM 1.2. *Assume that (F1)–(F3), (K1), (K2) and (C1) hold. Then (NL) has a positive solution for $\lambda \approx 0$.*

In order to make use of variational techniques, we extend the functions f and c to all of \mathbb{R} by setting $f(s) = f(0)$ and $c(s) = c(-s)$ for $s < 0$.

REMARK 1.3. Let $f(s) = s^q - 1$ and $c(s) = s^n + 1$, $n > 0$. Then, choosing $\theta = \frac{1}{2}(n + p + q + 1)$, f satisfies (F1)–(F3) and c satisfies (C1).

REMARK 1.4. Given the extension of $f(s) = f(0)$, $s < 0$, (F1) implies that

$$f(s) \leq B(|s|^q + 1) \quad \forall s \in \mathbb{R}.$$

Furthermore, we note that (F1) implies that there exists constant $A_1 > 0$ such that

$$A_1(s^{q+1} - 1) \leq F(s) \quad \forall s \geq 0,$$

and constant $B_1 > 0$ such that

$$F(s) \leq B_1(|s|^{q+1} + 1) \quad \forall s \in \mathbb{R}.$$

Similarly, if f satisfies (F3), then there exists a constant $\tilde{\theta} > 0$ such that

$$sf(s) > \theta F(s) - \tilde{\theta} \quad \forall s \geq 0.$$

Finally, (C1) combined with the extension $c(s) = c(-s)$, $s < 0$, implies that there exists $\tilde{\theta}_1 \in \mathbb{R}$ such that $\tilde{\theta}_1 < \theta g(s) - c(s)|s|^p$ for all $s \in \mathbb{R}$ since g is an even function.

For a rich history of the study of existence results for the case of the Laplacian and the p -Laplacian operator with Dirichlet boundary conditions on bounded domains, see [2, 4–6, 8–11, 15–17]. In all of these works the authors studied equations of the form

$$\begin{aligned} -\Delta_p u &= \lambda f(u) && \text{in } \Omega, \\ u &= 0 && \text{on } \partial\Omega, \end{aligned}$$

where Ω is a bounded domain in \mathbb{R}^N (including the cases in which Ω is a ball or an annulus). Assuming that $f \in C[0, \infty)$, $f(0) < 0$ and f has p -superlinear growth at infinity, they discussed the existence of a positive solution for $\lambda \approx 0$. Recently, when $p = 2$, Dhanya *et al.* [13] proved the existence of a positive radial solution when Ω is the region exterior to a ball. Their study also included the case in which a nonlinear condition (as in (1.2)) was satisfied on the inner boundary (i.e. the boundary of the ball). The focus of this paper is to extend this result for all $p > 1$. In [13], the

Dhanya *et al.* used variational methods (the mountain pass theorem) combined with the properties of the Green function. In the p -Laplacian case (when $p \neq 2$), the help of a Green function is unavailable, which necessitates a deeper analysis. Extending recent ideas from [11] to the case of boundary-value problems with singular weights as well as to boundary-value problems with nonlinear boundary conditions, we establish our results in this paper.

In §2 we recall the mountain pass theorem and an important property (the (S^+) property) of the p -Laplacian operator. In §3 we prove theorem 1.1 and in §4 we prove theorem 1.2.

2. Preliminaries

We will use the mountain pass theorem, as in [3], which is stated below.

THEOREM 2.1 (mountain pass theorem). *Let X be a Banach space and let $J \in C^1(X; \mathbb{R})$ satisfy the following:*

- (I) (*Palais–Smale condition*) any sequence $\{u_n\} \subset X$ such that $J(u_n)$ is bounded and $J'(u_n) \rightarrow 0$ as $n \rightarrow \infty$ possesses a convergent subsequence,
- (II) $J(0) = 0$,
- (III) there exist $\alpha, R > 0$ such that $J(u) \geq \alpha \forall \|u\|_X = R$, and
- (IV) there exists $v \in X$ such that $\|v\|_X > R$ and $J(v) < 0$.

Furthermore, let

$$\Gamma := \{\gamma \in C([0, 1]; X) : \gamma(0) = 0, \gamma(1) = v\},$$

and

$$\hat{c} := \inf_{\gamma \in \Gamma} \max_{t \in [0, 1]} J(\gamma(t)).$$

Then \hat{c} is a critical value of the functional J .

In order to apply the mountain pass theorem, we employ several Banach spaces, $W_0^{1,p}(0, 1)$, $C[0, 1]$, $C^1[0, 1]$ and $L^s(0, 1)$, each equipped with the usual norms, $\|\cdot\|_{1,p}$, $\|\cdot\|_\infty$, $\|\cdot\|_{C^1}$ and $\|\cdot\|_s$, respectively. We also recall that $W^{1,p}(0, 1)$ is compactly embedded in $C[0, 1]$, which implies the existence of a constant $k > 0$ such that $\|u\|_\infty \leq k\|u\|_{1,p}$ for every $u \in W_0^{1,p}(0, 1)$ (see [1]).

Finally, we recall the concept of the (S^+) condition (see [7]). The proof of the following proposition can be found in [14].

PROPOSITION 2.2 ((S^+) property). *Let $\Psi: W^{1,p}(0, 1) \rightarrow [0, \infty)$ be defined by*

$$\Psi(u) = \frac{1}{p} \int_0^1 |u'|^p dx.$$

Then Ψ' exists,

$$\langle \Psi'(u), v \rangle = \int_0^1 |u'|^{p-2} u' v' dx,$$

and if $u_n \rightharpoonup u$ and $\limsup_{n \rightarrow \infty} \langle \Psi'(u_n), u_n - u \rangle \leq 0$, then $u_n \rightarrow u$ strongly in $W^{1,p}(0, 1)$.

3. Proof of theorem 1.1

Let $J: W_0^{1,p}(0, 1) \rightarrow \mathbb{R}$ be defined by

$$J(u) = \frac{1}{p} \int_0^1 (u')^p dx - \lambda \int_0^1 hF(u) dx. \tag{3.1}$$

The second term in the definition of J is well defined since $W_0^{1,p}(0, 1) \hookrightarrow C[0, 1]$ and

$$\left| \lambda \int_0^1 hF(u) dx \right| \leq \lambda \|h\|_1 \max_{-M_1 \leq s \leq M_1} |F(s)|, \quad \text{where } M_1 = \|u\|_\infty.$$

Furthermore, the map J is continuously differentiable and

$$\langle J'(u), v \rangle = \int_0^1 |u'|^{p-2} u' v' dx - \lambda \int_0^1 hf(u)v dx \quad \forall v \in W_0^{1,p}(0, 1).$$

Clearly, the first term of J' is well defined. The second term is well defined since $W_0^{1,p}(0, 1) \hookrightarrow C[0, 1]$ and the extended function $f \in C(\mathbb{R})$. Indeed, to show that J' is a continuous map, let us show that

$$L_u(v) := \int_0^1 hf(u)v dx$$

is continuous for any $v \in W_0^{1,p}(0, 1)$.

Let $\varepsilon > 0$ be given. Since the extended function f is continuous, there exists $\delta_1 > 0$ so that for every $t_1, t_2 \in \mathbb{R}$ such that $|t_2 - t_1| < \delta_1, |f(t_2) - f(t_1)| < \varepsilon/k \|h\|_1$. Choose $\delta = \delta_1/k$ so that when $\|u_1 - u_2\|_{1,p} < \delta$, we have $\|u_1 - u_2\|_\infty < \delta_1$. Then for any fixed $v \in W_0^{1,p}(0, 1)$ with $\|v\|_{1,p} \leq 1$,

$$\begin{aligned} |L_{u_1}(v) - L_{u_2}(v)| &= \left| \int_0^1 h(f(u_1) - f(u_2))v dx \right| \\ &\leq \int_0^1 h|f(u_1) - f(u_2)| \|v\|_\infty dx \\ &\leq k \int_0^1 h|f(u_1) - f(u_2)| dx \\ &\leq k \int_0^1 h \frac{\varepsilon}{k \|h\|_1} dx \\ &= \varepsilon \end{aligned}$$

for all u_1, u_2 with $\|u_1 - u_2\|_{1,p} < \delta$. Hence,

$$\|L_{u_1} - L_{u_2}\| = \sup_{\|v\|_{1,p} \leq 1} \{|L_{u_1}(v) - L_{u_2}(v)|\} \leq \varepsilon.$$

Therefore, J is C^1 .

We will first establish the existence of a solution for (D) using the mountain pass theorem and then prove that the solution thus obtained is positive.

LEMMA 3.1. *The critical point $u \in W_0^{1,p}(0, 1)$ of (3.1) is a solution of (D).*

Proof. If u is a critical point of (3.1), then

$$\int_0^1 \phi_p(u'(s))v'(s) \, ds = \lambda \int_0^1 h(s)f(u(s))v(s) \, ds \quad \forall v \in C_0^\infty[0, 1].$$

Using integration by parts, we then have,

$$\int_0^1 (\phi_p(u'(s)))' + \lambda h(s)f(u(s))v(s) \, ds = 0 \quad \forall v \in C_0^\infty[0, 1].$$

Hence, $(\phi_p(u'(x)))' = -\lambda h(x)f(u(x))$ almost everywhere in $(0, 1)$. But since f is continuous, $u \in C[0, 1]$ and $h \in C(0, 1)$, so $(\phi_p(u'(x)))' = -\lambda h(x)f(u(x))$ holds for every $x \in (0, 1)$. Furthermore, since $h \in L^1(0, 1)$, f is continuous and $u \in C[0, 1]$, we have that $(\phi_p(u'))' \in L^1(0, 1)$, i.e. $\phi_p(u') \in W^{1,1}(0, 1)$.

Let $x_0 \in (0, 1)$ so that $u'(x_0) = 0$. Then

$$u'(x) = \phi_p^{-1} \left(-\lambda \int_{x_0}^x h(s)f(u(s)) \, ds \right).$$

For $x \in (0, 1]$, h is continuous on $[x_0, x]$, and therefore, $-\lambda \int_{x_0}^x h(s)f(u(s)) \, ds$ is also continuous. Since ϕ_p^{-1} is also continuous, we find that u' is continuous.

For $x = 0$, we have that

$$\begin{aligned} \lim_{x \rightarrow 0^+} u'(x) &= \lim_{x \rightarrow 0^+} \phi_p^{-1} \left(-\lambda \int_{x_0}^x h(s)f(u(s)) \, ds \right) \\ &= \phi_p^{-1} \left(-\lambda \int_{x_0}^0 h(s)f(u(s)) \, ds \right) \end{aligned}$$

exists since ϕ_p^{-1} is a continuous function and $h \in L^1(0, 1)$. Hence, $u \in C^1[0, 1]$. \square

3.1. Existence of a mountain pass solution

In the following theorem, we establish the existence of a mountain pass solution.

THEOREM 3.2. *Assume that (F1)–(F3) and (K1), (K2) hold. Then, for $\lambda \approx 0$, the hypotheses of the mountain pass theorem are satisfied, and there exists a solution u_λ to (D).*

In order to prove theorem 3.2, we first prove several lemmas. Throughout the calculations to follow, we let $r = 1/(q + 1 - p)$.

LEMMA 3.3. *The map J satisfies the Palais–Smale condition (see theorem 2.1(I)).*

Proof. First, we wish to show that any sequence $\{u_n\}$ satisfying the hypotheses of theorem 2.1(I) must be bounded. Assume to the contrary that $\{u_n\}$ is a sequence such that $J'(u_n) \rightarrow 0$, there exists some $M > 0$ such that $|J(u_n)| < M \, \forall n \geq 1$, and $\|u_n\|_{1,p} \rightarrow \infty$. Then consider the quantity

$$\frac{\theta J(u_n) - \langle J'(u_n), u_n \rangle}{\|u_n\|_{1,p}},$$

where $\theta > p$ is chosen as in (F3). Taking the limit as $n \rightarrow \infty$, we see that

$$\lim_{n \rightarrow \infty} \frac{\theta J(u_n) - \langle J'(u_n), u_n \rangle}{\|u_n\|_{1,p}} = 0,$$

since $J(u_n)$ is bounded and $J'(u_n) \rightarrow 0$. Also, we can write

$$\begin{aligned} \theta J(u_n) - \langle J'(u_n), u_n \rangle &= \left(\frac{\theta}{p} - 1\right) \int_0^1 (u'_n)^p \, dx \\ &\quad - \lambda \int_0^1 h(\theta F(u_n) - f(u_n)u_n) \, dx. \end{aligned}$$

Note that when $u_n \geq 0$, $\theta F(u_n) - f(u_n)u_n \leq \tilde{\theta}$ and when $u_n < 0$,

$$\begin{aligned} \theta F(u_n) - f(u_n)u_n &= \theta u_n f(0) - f(0)u_n \\ &= (\theta - 1)f(0)u_n. \end{aligned}$$

Hence,

$$\begin{aligned} \theta J(u_n) - \langle J'(u_n), u_n \rangle &\geq \left(\frac{\theta}{p} - 1\right) \int_0^1 (u'_n)^p \, dx - \lambda \tilde{\theta} \|h\|_1 - \lambda(\theta - 1)|f(0)| \|u_n\|_\infty \|h\|_1 \\ &\geq \left(\frac{\theta}{p} - 1\right) \|u_n\|_{1,p}^p - \lambda \tilde{\theta} \|h\|_1 - \lambda k(\theta - 1)|f(0)| \|u_n\|_{1,p} \|h\|_1. \end{aligned}$$

But by dividing both sides through by $\|u_n\|_{1,p}$ and taking a limit as $n \rightarrow \infty$, we get a contradiction. Hence, $\{u_n\}$ is bounded in $W_0^{1,p}(0, 1)$, and therefore there exists a subsequence, call it again $\{u_n\}$, that converges weakly in $W_0^{1,p}(0, 1)$ and strongly in $C[0, 1]$.

Since $u_n \rightarrow u$ strongly in $C[0, 1]$, we have

$$\lim_{n \rightarrow \infty} \int_0^1 h f(u_n)(u_n - u) \, dx \rightarrow 0.$$

Furthermore, since $\{u_n\}$ is a Palais–Smale sequence, $J'(u_n) \rightarrow 0$. Therefore, since $u_n - u$ is bounded in $W_0^{1,p}(0, 1)$, we obtain

$$\lim_{n \rightarrow \infty} \langle J'(u_n), u_n - u \rangle \rightarrow 0.$$

Hence,

$$\langle J'(u_n), u_n - u \rangle + \lambda \int_0^1 h f(u_n)(u_n - u) \, dx = \langle \Psi'(u_n), u_n - u \rangle \rightarrow 0.$$

Therefore, by the (S^+) property, $u_n \rightarrow u$ strongly in $W_0^{1,p}(0, 1)$, and so J satisfies theorem 2.1(I). \square

LEMMA 3.4. *There exists $\bar{\lambda} > 0$ and $u \in W_0^{1,p}(0, 1)$ such that if $\lambda \in (0, \bar{\lambda})$, then $J(u) < 0$.*

Proof. Let $v_1 \in W_0^{1,p}(0, 1)$ be such that $\|v_1\|_{1,p} = 1$, $v_1(x) > 0 \forall x \in (0, 1)$ (which implies that $v_1 \in L^{q+1}(0, 1)$), and let $c_1 = (2/pA_1\hat{h}\|v_1\|_{q+1}^{q+1})^r$. Then, for $s = c_1\lambda^{-r}$,

$$\begin{aligned} J(sv_1) &= \frac{1}{p} \int_0^1 ((sv_1)')^p dx - \lambda \int_0^1 hF(sv_1) dx \\ &\leq \frac{s^p}{p} - \lambda A_1 \int_0^1 h(s^{q+1}v_1^{q+1} - 1) dx \\ &\leq \frac{s^p}{p} - \lambda A_1 s^{q+1} \hat{h} \|v_1\|_{q+1}^{q+1} + \lambda A_1 \|h\|_1 \\ &= c_1^p \left(\frac{\lambda^{-rp}}{p} - \lambda \hat{h} A_1 c_1^{q+1-p} \lambda^{-r(q+1)} \|v_1\|_{q+1}^{q+1} \right) + \lambda A_1 \|h\|_1. \end{aligned} \tag{3.2}$$

Now, substituting in our choice of c_1 , we have

$$\begin{aligned} J(sv_1) &\leq c_1^p \left(\frac{\lambda^{-rp}}{p} - \frac{2}{p} \lambda^{1-r(q+1)} \right) + \lambda A_1 \|h\|_1 \\ &= c_1^p \lambda^{-rp} \left(\frac{1}{p} - \frac{2}{p} \lambda^{1-r(q+1-p)} \right) + \lambda A_1 \|h\|_1 \\ &= -c_1^p \lambda^{-rp} \frac{1}{p} + \lambda A_1 \|h\|_1 \\ &= \lambda^{-rp} \left(\frac{-c_1^p}{p} + \lambda^{1+rp} A_1 \|h\|_1 \right). \end{aligned}$$

Hence, choosing $\bar{\lambda} < (p\|h\|_1 A_1 c_1^{-p})^{-1/(1+rp)}$, we see that for all $\lambda \in (0, \bar{\lambda})$ there exists s^* (for example, $s^* = c_1(\bar{\lambda}/2)^{-r}$) such that $J(u) < 0$ for $u = s^*v_1$. \square

LEMMA 3.5. *There exist $\tau \in (0, c_1)$ and $\tilde{\lambda} > 0$ such that if $\|u\|_{1,p} = \tau\lambda^{-r}$, then $J(u) \geq c_2(\tau\lambda^{-r})^p$ for all $\lambda \in (0, \tilde{\lambda})$, where $c_2 = 1/4p$.*

Proof. Let $\|u\|_{1,p} = \tau\lambda^{-r}$, where $\tau > 0$ is to be chosen later. Then

$$\begin{aligned} J(u) &= \frac{(\tau\lambda^{-r})^p}{p} - \lambda \int_0^1 hF(u) dx \\ &\geq \frac{(\tau\lambda^{-r})^p}{p} - \lambda B_1 \int_0^1 h|u|^{q+1} dx - \lambda B_1 \|h\|_1 \\ &\geq \frac{(\tau\lambda^{-r})^p}{p} - \lambda B_1 \|h\|_1 \|u\|_\infty^{q+1} - \lambda B_1 \|h\|_1 \\ &\geq \frac{(\tau\lambda^{-r})^p}{p} - \lambda k^{q+1} B_1 \|h\|_1 \|u\|_{1,p}^{q+1} - \lambda B_1 \|h\|_1 \\ &= \frac{(\tau\lambda^{-r})^p}{p} - \lambda k^{q+1} B_1 \|h\|_1 (\tau\lambda^{-r})^{q+1} - \lambda B_1 \|h\|_1 \\ &\geq \lambda^{-rp} \left(\frac{\tau^p}{2p} - \lambda^{1+rp} B_1 \|h\|_1 \right), \end{aligned}$$

where $\tau < \min\{(1/2pB_1\|h\|_1 k^{q+1})^{1/r}, c_1\}$ has now been chosen. Taking

$$\tilde{\lambda} = \tau^{p/(1+rp)} (4pB_1\|h\|_1)^{-1/(1+rp)},$$

we have

$$J(u) \geq c_2 \tau^p \lambda^{-rp}$$

for all $\lambda \in (0, \tilde{\lambda})$, which proves the claim. □

3.1.1. Proof of theorem 3.2

We have already established that $J \in C^1(W_0^{1,p}(0, 1); \mathbb{R})$. Observe that $J(0) = 0$ and by lemmas 3.3–3.5, for $\lambda < \min\{\tilde{\lambda}, \hat{\lambda}\}$, we have satisfied hypotheses (I)–(IV) of the mountain pass theorem (where we note that the choice $\tau < c_1$ in lemma 3.5 is sufficient to ensure that $\|v\|_X > R$ in hypothesis (IV)). Hence, there exists a solution u_λ to (D).

REMARK 3.6. To show the simple existence of a mountain pass solution (not necessarily positive) to (D), we may choose $\|u\|_{1,p}$ sufficiently small and quickly get the desired result. However, this solution likely has negative values and therefore does not make sense in the context of problem (1.1) since $f(s)$ is only defined for $s \geq 0$.

3.2. Positivity of solution

Let u_λ be the mountain pass solution to (D), as in theorem 3.2. We first establish two *a priori* bounds on u_λ that are necessary for establishing positivity.

LEMMA 3.7. *Let u_λ be as in theorem 3.2. Then there exist an $M_0 > 0$ and $\hat{\lambda} > 0$ such that*

$$M_0 \lambda^{-r} \leq \|u_\lambda\|_\infty$$

for all $\lambda \in (0, \hat{\lambda})$.

Proof. Recall that

$$J(u_\lambda) \geq c_2 \tau^p \lambda^{-rp} \quad \text{for } \lambda \in (0, \tilde{\lambda}),$$

$$0 > \hat{F} := \inf_{s \in \mathbb{R}} F(s) > -\infty \quad \text{and} \quad f(s)s \leq B(|s|^{q+1} + |s|) \quad \forall s \in \mathbb{R}.$$

Letting

$$\hat{\lambda} = \min \left\{ \left(\frac{(p-1)c_2 \tau^p}{p|\hat{F}|\|h\|_1} \right)^{1/(1+rp)}, (2B\|h\|_1 c_2^{-1} \tau^{-p})^{-1/(1+rp)}, \tilde{\lambda} \right\},$$

we have that

$$\begin{aligned} \lambda \int_0^1 h f(u_\lambda) u_\lambda \, dx &= \int_0^1 |u'_\lambda|^p \, dx \\ &= pJ(u_\lambda) + p\lambda \int_0^1 h F(u_\lambda) \, dx \\ &\geq pc_2 \tau^p \lambda^{-rp} - p|\hat{F}|\|h\|_1 \lambda \\ &\geq c_2 \tau^p \lambda^{-rp} \end{aligned} \tag{3.3}$$

for $\lambda \in (0, \hat{\lambda})$. We further note that

$$\begin{aligned} c_2 \tau^p \lambda^{-rp} &\leq \lambda \int_0^1 h f(u_\lambda) u_\lambda \, dx \\ &\leq B \lambda \int_0^1 h (|u_\lambda|^{q+1} + |u_\lambda|) \, dx \\ &\leq B \lambda \int_0^1 h (\|u_\lambda\|_\infty^{q+1} + \|u_\lambda\|_\infty) \, dx \\ &\leq B \lambda \|h\|_1 (\|u_\lambda\|_\infty^{q+1} + \|u_\lambda\|_\infty), \end{aligned}$$

so that for $\lambda < \hat{\lambda} \leq (2B\|h\|_1 c_2^{-1} \tau^{-p})^{-1/(1+rp)}$, $\|u_\lambda\|_\infty \geq 1$. We also have that

$$\begin{aligned} \lambda \int_0^1 h f(u_\lambda) u_\lambda \, dx &\leq B \lambda \int_0^1 h (|u_\lambda|^{q+1} + |u_\lambda|) \, dx \\ &\leq B \lambda \int_0^1 h (\|u_\lambda\|_\infty^{q+1} + \|u_\lambda\|_\infty) \, dx \\ &\leq 2B \lambda \|h\|_1 \|u_\lambda\|_\infty^{q+1}, \end{aligned} \quad (3.4)$$

since $\|u_\lambda\|_\infty \geq 1$. We combine (3.3) and (3.4) and take $M_0 = (c_2 \tau^p / 2B \|h\|_1)^{1/(q+1)}$ to complete the proof. \square

LEMMA 3.8. *Let u_λ be as in theorem 3.2. Then there exist $c_3 > 0$ and $\lambda^* > 0$ such that*

$$\|u_\lambda\|_{1,p}^p \leq c_3 \lambda^{-rp}$$

for all $\lambda \in (0, \lambda^*)$.

Proof. Let $\Omega^+ = \{x \in [0, 1] \mid u_\lambda(x) \geq 0\}$ and $\Omega^- = [0, 1] \setminus \Omega^+$. Since u_λ is a critical point of J , and using remark 1.4,

$$\begin{aligned} \|u_\lambda\|_{1,p}^p &= pJ(u_\lambda) + p\lambda \int_{\Omega^-} hF(u_\lambda) \, dx + p\lambda \int_0^1 hF(u_\lambda) \, dx - p\lambda \int_{\Omega^-} hF(u_\lambda) \, dx \\ &\leq pJ(u_\lambda) + p\lambda \int_{\Omega^-} h u_\lambda f(0) \, dx + p\lambda \int_0^1 h \left(\frac{u_\lambda f(u_\lambda)}{\theta} + \frac{\tilde{\theta}}{\theta} \right) \, dx \\ &\quad - p\lambda \int_{\Omega^-} h \left(\frac{u_\lambda f(0)}{\theta} + \frac{\tilde{\theta}}{\theta} \right) \, dx \\ &= pJ(u_\lambda) + p\lambda \left(1 - \frac{1}{\theta} \right) \int_{\Omega^-} h u_\lambda f(0) \, dx - p\lambda \int_{\Omega^-} h \frac{\tilde{\theta}}{\theta} \, dx \\ &\quad + \frac{p\lambda}{\theta} \int_0^1 h u_\lambda f(u_\lambda) \, dx + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 \\ &\leq pJ(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_{1,p} + \frac{p}{\theta} \|u_\lambda\|_{1,p}^p + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1. \end{aligned} \quad (3.5)$$

On the other hand, by the mountain pass characterization of u_λ ,

$$\begin{aligned}
 J(u_\lambda) &\leq \max_{s \geq 0} \{J(sv_1)\} \\
 &\leq \max_{s \geq 0} \left\{ \frac{s^p}{p} - \lambda A_1 s^{q+1} \hat{h} \|v_1\|_{q+1}^{q+1} + \lambda A_1 \|h\|_1 \right\}, \tag{3.6}
 \end{aligned}$$

as in (3.2). Let

$$p(s) := \frac{s^p}{p} - \lambda A_1 s^{q+1} \hat{h} \|v_1\|_{q+1}^{q+1} + \lambda A_1 \|h\|_1,$$

so that by solving $p'(s) = 0$ we find that $p(s)$ is maximized when $s = \bar{K} \lambda^{-r}$, where

$$\bar{K} = (A_1(q+1)\hat{h}\|v_1\|_{q+1}^{q+1})^{-r}.$$

Hence, if $\lambda \leq 1$, then $\lambda^{-rp} \geq \lambda$, and therefore

$$\begin{aligned}
 pJ(u_\lambda) + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 &\leq \bar{K}^p \lambda^{-rp} - p\lambda A_1 \hat{h} \bar{K}^{q+1} \lambda^{-r(q+1)} \|v_1\|_{q+1}^{q+1} + \lambda p \left(A_1 + \frac{\tilde{\theta}}{\theta} \right) \|h\|_1 \\
 &\leq \bar{K}^p \lambda^{-rp} - pA_1 \hat{h} \bar{K}^{q+1} \lambda^{-rp} \|v_1\|_{q+1}^{q+1} + \lambda^{-rp} p \left(A_1 + \frac{\tilde{\theta}}{\theta} \right) \|h\|_1 \\
 &\leq \left(\bar{K}^p - pA_1 \hat{h} \bar{K}^{q+1} \|v_1\|_{q+1}^{q+1} + p \left(A_1 + \frac{\tilde{\theta}}{\theta} \right) \|h\|_1 \right) \lambda^{-rp} \\
 &= \tilde{c}_3 \lambda^{-rp}, \tag{3.7}
 \end{aligned}$$

where

$$\tilde{c}_3 = \bar{K}^p - pA_1 \hat{h} \bar{K}^{q+1} \|v_1\|_{q+1}^{q+1} + p \left(A_1 + \frac{\tilde{\theta}}{\theta} \right) \|h\|_1.$$

By lemma 3.7, if $\lambda < \min\{\hat{\lambda}, (k/M_0)^{-1/r}\}$, then

$$\|u_\lambda\|_{1,p} \geq \frac{1}{k} \|u_\lambda\|_\infty \geq \frac{M_0}{k} \lambda^{-r} \geq 1.$$

From (3.5) and (3.7), we have that

$$a\|u_\lambda\|_{1,p}^p \leq b\lambda\|u_\lambda\|_{1,p} + \tilde{c}_3 \lambda^{-rp}$$

for $a = 1 - p/\theta > 0$ and $b = pk|f(0)|\|h\|_1 > 0$. Since $\|u_\lambda\|_{1,p} \geq 1$,

$$a\|u_\lambda\|_{1,p}^p \leq b\lambda\|u_\lambda\|_{1,p}^p + \tilde{c}_3 \lambda^{-rp}.$$

Hence, if

$$\lambda \leq \frac{a}{2b} = \frac{\theta - p}{2\theta pk|f(0)|\|h\|_1},$$

then

$$(a - b\lambda)\|u_\lambda\|_{1,p}^p \leq \tilde{c}_3 \lambda^{-rp},$$

which implies that

$$\frac{1}{2}a\|u_\lambda\|_{1,p}^p \leq \tilde{c}_3 \lambda^{-rp}.$$

The lemma is proven taking $c_3 = 2\tilde{c}_3/a$ and

$$\lambda^* = \min \left\{ 1, \hat{\lambda}, \left(\frac{k}{M_0} \right)^{-1/r}, \frac{\theta - p}{2\theta pk|f(0)|\|h\|_1} \right\}. \quad \square$$

3.2.1. *Proof of theorem 1.1*

We prove the theorem by contradiction. Suppose that there exists a sequence $\{(\lambda_j, u_{\lambda_j})\}_{j=1}^\infty \subset (0, 1) \times C^1[0, 1]$ of mountain pass solutions to (D), as in theorem 3.2, such that $\lambda_j \rightarrow 0$ and $m(\{x \in (0, 1) \mid u_{\lambda_j}(x) \leq 0\}) > 0$. Let $w_j = u_{\lambda_j} / \|u_{\lambda_j}\|_\infty$. Then we have

$$-(\phi_p(w'_j))' = \lambda_j h \frac{f(u_{\lambda_j})}{\|u_{\lambda_j}\|_\infty^{p-1}}.$$

By (F1) and lemmas 3.7 and 3.8,

$$\begin{aligned} |\lambda_j f(u_{\lambda_j})\|u_{\lambda_j}\|_\infty^{1-p}| &\leq \lambda_j B(\|u_{\lambda_j}\|_\infty^{q+1-p} + \|u_{\lambda_j}\|_\infty^{1-p}) \\ &\leq \lambda_j B(k^{1/r}\|u_{\lambda_j}\|_{1,p}^{1/r} + M_0^{1-p}\lambda^{-r(1-p)}) \\ &\leq \lambda_j Bc_4(\lambda_j^{-1} + \lambda_j^{-r(1-p)}), \end{aligned} \tag{3.8}$$

where $c_4 = \max\{(c_3k)^{1/r}, M_0^{1-p}\}$. Hence, we observe from (3.8) that

$$\begin{aligned} |\lambda_j f(u_{\lambda_j})\|u_{\lambda_j}\|_\infty^{1-p}| &\leq Bc_4 + Bc_4\lambda_j^{-r(1-p)+1} \\ &\leq Bc_4 + Bc_4\lambda_j^{q/(q+1-p)} \\ &\leq 2Bc_4 \end{aligned} \tag{3.9}$$

for λ_j sufficiently small. Hence, $\lambda_j f(u_{\lambda_j}(x))\|u_{\lambda_j}\|_\infty^{1-p}$ converges to a limit, $z_1(x)$, for every $x \in [0, 1]$. Furthermore, since $\lambda_j\|u_{\lambda_j}\|_\infty^{1-p} \rightarrow 0$ as $j \rightarrow \infty$, and f is bounded from below,

$$\begin{aligned} z_1(x) &= \lim_{j \rightarrow \infty} \lambda_j f(u_{\lambda_j}(x))\|u_{\lambda_j}\|_\infty^{1-p} \\ &\geq \lim_{j \rightarrow \infty} -\lambda_j |f(0)|\|u_{\lambda_j}\|_\infty^{1-p} \\ &= 0. \end{aligned}$$

Therefore,

$$\lambda_j h(x) f(u_{\lambda_j}(x))\|u_{\lambda_j}\|_\infty^{1-p} \rightarrow h(x)z_1(x) =: z(x) \quad \forall x \in (0, 1],$$

and $z(x) \geq 0 \forall x \in (0, 1]$.

Let $x_j \in (0, 1)$ be a maximum of $w_j(x)$. Then

$$\begin{aligned} \phi_p(w'_j(x)) &= \int_x^{x_j} -(\phi_p(w'_j(s)))' ds \\ &= \int_x^{x_j} \lambda_j h(s) f(u_{\lambda_j}(s))\|u_{\lambda_j}\|_\infty^{1-p} ds. \end{aligned}$$

By (3.9), this implies that $|\phi_p(w'_j(x))| \leq 2Bc_4\|h\|_1 \forall x \in [0, 1]$, and therefore $|w'_j(x)| \leq (2Bc_4\|h\|_1)^{1/(p-1)} \forall x \in [0, 1]$. By the Arzelà–Ascoli theorem, this implies that there exists $w \in C[0, 1]$ such that $w_j \rightarrow w$ in $C[0, 1]$.

Meanwhile, again by (3.9), we have that $|\lambda_j h(x) f(u_{\lambda_j}(x))\|u_{\lambda_j}\|_\infty^{1-p}| \leq 2Bc_4 h(x) \forall x \in (0, 1]$. Since $h \in L^1(0, 1)$, by the Lebesgue dominated convergence theorem,

we may choose a subsequence u_{λ_j} with $x_j \rightarrow x_0$ such that

$$\int_x^{x_j} \lambda_j h(s) f(u_{\lambda_j}(s)) \|u_{\lambda_j}\|_{\infty}^{1-p} ds \rightarrow \int_x^{x_0} h(s) z_1(s) ds = \int_x^{x_0} z(s) ds.$$

Hence,

$$\phi_p^{-1} \left(\int_x^{x_j} \lambda_j h(s) f(u_{\lambda_j}(s)) \|u_{\lambda_j}\|_{\infty}^{1-p} ds \right) \rightarrow \phi_p^{-1} \left(\int_x^{x_0} z(s) ds \right),$$

and therefore

$$\int_0^t \phi_p^{-1} \left(\int_x^{x_j} \lambda_j h(s) f(u_{\lambda_j}(s)) \|u_{\lambda_j}\|_{\infty}^{1-p} ds \right) dx \rightarrow \int_0^t \phi_p^{-1} \left(\int_x^{x_0} z(s) ds \right) dx.$$

Therefore, we see that $w_j(t) \rightarrow \int_0^t \phi_p^{-1} \left(\int_x^{x_0} z(s) ds \right) dx = w(t)$, and hence

$$\begin{aligned} w'_j(t) &= \phi_p^{-1} \left(\int_t^{x_j} \lambda_j h(s) f(u_{\lambda_j}(s)) \|u_{\lambda_j}\|_{\infty}^{1-p} ds \right) \\ &\rightarrow \phi_p^{-1} \left(\int_t^{x_0} z(s) ds \right) \\ &= w'(t) \end{aligned}$$

for all $t \in [0, 1]$.

Hence, $-(\phi_p(w'))' = z \geq 0$ with $w(0) = 0 = w(1)$. Since $\|w_j\|_{\infty} = 1$, $w \not\equiv 0$. Hence, since w is concave, $w > 0$ in $(0, 1)$, $w'(0) > 0$, and $w'(1) < 0$. Since $w_j \rightarrow w$ in $C^1[0, 1]$, we have $w_j(x) > 0$ for all $x \in (0, 1)$ for j sufficiently large. Hence, $u_{\lambda_j}(x) > 0$ for all $x \in (0, 1)$ for j sufficiently large, which implies that $m(\{x \in (0, 1); u_{\lambda_j}(x) \leq 0\}) = 0$ for all j sufficiently large, which is a contradiction. Hence, there exists some λ such that (D) has a positive solution for all $\lambda \in (0, \lambda)$.

REMARK 3.9. Note that since we now have a positive solution to (D), by reversing the earlier change of variables, we have a positive radial solution to (1.1) on Ω_e .

REMARK 3.10. By lemmas 3.7 and 3.8, we have

$$\|w_j\|_{1,p} \leq \frac{c_3}{M_0},$$

where we note that c_3 and M_0 are independent of λ , and therefore independent of j . In the case in which $h \in C[0, 1]$ (that is, $\mu \geq (N - p)/(p - 1)$), [12, proposition 3.7] implies that the sequence $\{w_j\}_{j=1}^{\infty}$ is uniformly bounded in $C_0^{1,\beta}[0, 1]$ for some $\beta \in (0, 1)$. We could then conclude that $w \in C^{1,\beta^*}[0, 1]$ for some $\beta^* \in (0, \beta)$. This makes the proof simpler when $h \in C[0, 1]$.

4. Proof of theorem 1.2

We begin by establishing the appropriate variational formulation of the problem. Let $W := \{u \in W^{1,p}(0, 1) \mid u(0) = 0\}$. Then W is a Banach space with the induced norm of $W^{1,p}(0, 1)$. Let E be defined on W as

$$E(u) = J(u) + g(u(1)), \tag{4.1}$$

where $J(u)$ is as before. Once again, the compact embedding of $W^{1,p}(0,1)$ into $C[0,1]$ implies that E is well defined.

Since we have already established that J is a C^1 functional, we need only show that $H(u) := g(u(1))$ is C^1 . Fix $u \in W$ so that for any $v \in W$, $\langle H'(u), v \rangle = g'(u(1))v(1)$. It is clear that the function $g(s)$ as previously defined is continuously differentiable, and furthermore, since pointwise evaluation is a continuous operation, we may conclude that $H'(u)$ is a continuous functional on W . Hence, $E(u)$ is a C^1 functional as it is the sum of two C^1 functionals.

PROPOSITION 4.1. *Let*

$$\|u\|_W = \left(\int_0^1 |u|^p dx + \int_0^1 |u'|^p dx \right)^{1/p}$$

be the norm induced on W as a subspace of $W^{1,p}(0,1)$, and let $\|u\| = (\int_0^1 |u'|^p dx)^{1/p}$ on W . Then $\|\cdot\|$ is equivalent to $\|\cdot\|_W$ on W .

Proof. Let $u \in W$. Then clearly, $\|u\| \leq \|u\|_W$. Furthermore, applying Jensen's inequality, we have

$$\begin{aligned} \int_0^1 |u(x)|^p dx &= \int_0^1 \left| \int_0^x u'(s) ds \right|^p dx \\ &\leq \int_0^1 \left(\int_0^x |u'(s)| ds \right)^p dx \\ &\leq \int_0^1 \left(\int_0^1 |u'(s)| ds \right)^p dx \\ &\leq \int_0^1 \int_0^1 |u'(s)|^p ds dx \\ &= \int_0^1 |u'(s)|^p ds, \end{aligned}$$

which implies that

$$\|u\|_W = \left(\int_0^1 |u|^p dx + \int_0^1 |u'|^p dx \right)^{1/p} \leq \left(2 \int_0^1 |u'|^p dx \right)^{1/p} = 2^{1/p} \|u\|.$$

Hence, $\|\cdot\|$ is equivalent to $\|\cdot\|_W$ on W . □

By proposition 4.1, we may continue our analysis using

$$\|u\|_W = \left(\int_0^1 |u'|^p dx \right)^{1/p}.$$

LEMMA 4.2. *The critical point $u \in W$ of (4.1) is a solution of (NL).*

Proof. If u is a critical point of (4.1), then

$$\int_0^1 \phi_p(u'(s))v'(s) ds + g'(u(1))v(1) = \lambda \int_0^1 h(s)f(u(s))v(s) ds \quad \forall v \in C_0^\infty[0,1].$$

Using integration by parts and the fact that $v(1) = 0$, we have that

$$\int_0^1 (\phi_p(u'(s)))' + \lambda h(s)f(u(s))v(s) \, ds = 0 \quad \forall v \in C_0^\infty[0, 1].$$

As in the proof of lemma 3.1, we have that $(\phi_p(u'(x)))' = -\lambda h(x)f(u(x)) \quad \forall x \in (0, 1)$, $\phi_p(u') \in W^{1,1}(0, 1)$, and $u \in C^1[0, 1]$.

Clearly, $u(0) = 0$ since $u \in W$. Let $\tilde{C} = \{v \in C^\infty[0, 1] \mid v(0) = 0\}$. Then since $\tilde{C} \subset W$ and u is a critical point of (4.1),

$$\int_0^1 \phi(u'(s))v'(s) \, ds + g'(u(1))v(1) = \lambda \int_0^1 h(s)f(u(s))v(s) \, ds \quad \forall v \in \tilde{C}.$$

Hence, using integration by parts,

$$\begin{aligned} \phi_p(u'(1))v(1) - \int_0^1 (\phi_p(u'(s)))'v(s) \, ds + g'(u(1))v(1) \\ = \lambda \int_0^1 h(s)f(u(s))v(s) \, ds \quad \forall v \in \tilde{C}, \end{aligned}$$

which implies that, for all $v \in \tilde{C}$,

$$\begin{aligned} (\phi_p(u'(1)) + c(u(1))\phi_p(u(1)))v(1) &= \phi_p(u'(1))v(1) + g'(u(1))v(1) \\ &= \int_0^1 ((\phi_p(u'(s)))' + \lambda h(s)f(u(s)))v(s) \, ds \\ &= 0 \end{aligned}$$

since $(\phi_p(u'(x)))' + \lambda h(x)f(u(x)) = 0$ almost everywhere in $(0, 1)$. Since $v(1)$ is arbitrary, we may conclude that $\phi_p(u'(1)) + c(u(1))\phi_p(u(1)) = 0$, and therefore the boundary conditions are satisfied. \square

4.1. Existence of a mountain pass solution

Again, our goal will be to establish the existence of a mountain pass solution.

THEOREM 4.3. *Assume that (F1)–(F3), (K1), (K2) and (C1) hold. Then, for $\lambda \approx 0$, the hypotheses of the mountain pass theorem are satisfied and there exists a solution u_λ to (NL).*

We again establish several lemmas that will help to prove the theorem.

LEMMA 4.4. *The map E satisfies the Palais–Smale condition (see theorem 2.1(I)).*

Proof. As before, we first wish to show that any sequence $\{u_n\}$ satisfying the hypotheses of theorem 2.1(I) must be bounded. Assume to the contrary that $\{u_n\}$ is a sequence such that $E'(u_n) \rightarrow 0$, there exists some $M > 0$ such that $|E(u_n)| < M \quad \forall n \geq 1$, and $\|u_n\|_W \rightarrow \infty$. Then, choosing $\theta > p$ satisfying (F3) and (C1), we note that

$$\lim_{n \rightarrow \infty} \frac{\theta E(u_n) - \langle E'(u_n), u_n \rangle}{\|u_n\|_W} = 0.$$

Also note that

$$\begin{aligned} \theta E(u_n) - \langle E'(u_n), u_n \rangle &= (\theta J(u_n) - \langle J'(u_n), u_n \rangle) + (\theta g(u_n(1)) - c(u_n(1))(u_n(1))^p) \\ &\geq \left(\frac{\theta}{p} - 1\right) \|u_n\|_W^p - \lambda \tilde{\theta} \|h\|_1 \\ &\quad - \lambda k(\theta - 1) |f(0)| \|u_n\|_W \|h\|_1 + \tilde{\theta}_1 \end{aligned}$$

by combining the earlier estimate on $\theta J(u_n) - \langle J'(u_n), u_n \rangle$ with (C1). But this implies that

$$\begin{aligned} 0 &= \lim_{n \rightarrow \infty} \frac{\theta E(u_n) - \langle E'(u_n), u_n \rangle}{\|u_n\|_W} \\ &\geq \lim_{n \rightarrow \infty} \frac{(\theta/p - 1) \|u_n\|_W^p - \lambda \tilde{\theta} \|h\|_1 - \lambda k(\theta - 1) |f(0)| \|u_n\|_W \|h\|_1 + \tilde{\theta}_1}{\|u_n\|_W} \\ &= \infty, \end{aligned}$$

which is a contradiction. Hence, $\{u_n\}$ is bounded in W and therefore contains a subsequence that converges weakly in W and strongly in $C[0, 1]$.

Since $u_n \rightarrow u$ strongly in $C[0, 1]$, we have

$$\lim_{n \rightarrow \infty} \int_0^1 h f(u_n)(u_n - u) \, dx \rightarrow 0.$$

Furthermore, since $\{u_n\}$ is a Palais–Smale sequence, $E'(u_n) \rightarrow 0$. Therefore, since $u_n - u$ is bounded in W , we obtain

$$\lim_{n \rightarrow \infty} \langle E'(u_n), u_n - u \rangle \rightarrow 0.$$

Finally, we note that

$$c(u_n(1)) \cdot \phi_p(u_n(1)) \cdot (u_n(1) - u(1)) \rightarrow 0$$

since $u_n \rightarrow u$ strongly in $C[0, 1]$ implies pointwise convergence and c, ϕ_p are both continuous functions. Hence,

$$\begin{aligned} \langle E'(u_n), u_n - u \rangle + \lambda \int_0^1 h f(u_n)(u_n - u) \, dx \\ - c(u_n(1)) \cdot \phi_p(u_n(1)) \cdot (u_n(1) - u(1)) = \langle \Psi'(u_n), u_n - u \rangle \\ \rightarrow 0. \end{aligned}$$

Therefore, by the (S^+) property, $u_n \rightarrow u$ strongly in W , and so E satisfies theorem 2.1(I). □

The following two lemmas are analogous to lemmas 3.4 and 3.5 presented in the Dirichlet case, and rely heavily on the estimates there.

LEMMA 4.5. *Let u and $\bar{\lambda} > 0$ be as in lemma 3.4. Then, for $\lambda \in (0, \bar{\lambda})$, $E(u) < 0$.*

Proof. Choose $v_1 \in W_0^{1,p}(0, 1) \subset W$ as in the proof of lemma 3.4. Then $E(sv_1) = J(sv_1) + g(sv_1(1)) = J(sv_1)$ since $v_1(1) = 0$ and $g(0) = 0$. The conclusion follows from lemma 3.4. □

LEMMA 4.6. Let $\tau \in (0, c_1)$ and let $c_2, \tilde{\lambda} > 0$ be as in lemma 3.5. Then if $\|u\|_W = \tau\lambda^{-r}$, $E(u) \geq c_2(\tau\lambda^{-r})^p$ for all $\lambda \in (0, \tilde{\lambda})$.

Proof. Since $g(s) \geq 0 \forall s \in \mathbb{R}$, we have that $E(u) \geq J(u)$. From lemma 3.5, $J(u) \geq c_2(\tau\lambda^{-r})^p$ for all $\lambda \in (0, \tilde{\lambda})$. This completes the proof. \square

4.1.1. Proof of theorem 4.3

Again, $E \in C^1(W_0^{1-p}(0, 1), \mathbb{R})$, $E(0) = 0$ and, by lemmas 4.4–4.6, for $\lambda < \min\{\tilde{\lambda}, \hat{\lambda}\}$ we have satisfied hypotheses (I)–(IV) of the mountain pass theorem. Hence, there exists a solution u_λ to (NL).

4.2. Positivity of solution

To follow the same argument as in the proof of theorem 1.1, we need two lemmas, as before.

LEMMA 4.7. Let u_λ be as in theorem 4.3. For $M_0 > 0$ and $\hat{\lambda} > 0$ as in lemma 3.7,

$$M_0\lambda^{-r} \leq \|u_\lambda\|_\infty$$

for all $\lambda \in (0, \hat{\lambda})$.

Proof. Using the same notation as in the proof of lemma 3.7, since u_λ is a solution to (NL) we have that

$$\begin{aligned} \lambda \int_0^1 hf(u_\lambda)u_\lambda \, dx &= \int_0^1 |u'_\lambda|^p \, dx + c(u_\lambda(1))\phi_p(u_\lambda(1))u_\lambda(1) \\ &= pJ(u_\lambda) + p\lambda \int_0^1 hF(u_\lambda) \, dx + c(u_\lambda(1))|u_\lambda(1)|^p \\ &\geq pc_2\lambda^{-rp} - p|\hat{F}|||h||_1\lambda \\ &\geq c_2\lambda^{-rp} \end{aligned} \tag{4.2}$$

for $\lambda \in (0, \hat{\lambda})$. The conclusion follows from the argument in the proof of lemma 3.7. \square

LEMMA 4.8. Let u_λ be as in theorem 4.3. There exist $C_3 > 0$ and $\Lambda^* > 0$ such that

$$\|u_\lambda\|_W^p \leq C_3\lambda^{-rp}$$

for all $\lambda \in (0, \Lambda^*)$.

Proof. Since u_λ is a critical point of E and using remark 1.4,

$$\begin{aligned} \|u_\lambda\|_W^p &= pE(u_\lambda) + p\lambda \int_{\Omega^-} hF(u_\lambda) \, dx + p\lambda \int_{\Omega^+} hF(u_\lambda) \, dx - pg(u_\lambda(1)) \\ &\leq pE(u_\lambda) + p\lambda \int_{\Omega^-} hu_\lambda f(0) \, dx + p\lambda \int_0^1 h\left(\frac{u_\lambda f(u_\lambda)}{\theta} + \frac{\tilde{\theta}}{\theta}\right) \, dx \\ &\quad - p\lambda \int_{\Omega^-} h\left(\frac{u_\lambda f(0)}{\theta} + \frac{\tilde{\theta}}{\theta}\right) \, dx - pg(u_\lambda(1)) \end{aligned}$$

$$\begin{aligned}
&= pE(u_\lambda) + p\lambda \left(1 - \frac{1}{\theta}\right) \int_{\Omega^-} h u_\lambda f(0) \, dx - p\lambda \int_{\Omega^-} h \frac{\tilde{\theta}}{\theta} \, dx \\
&\quad + \frac{p\lambda}{\theta} \int_0^1 h u_\lambda f(u_\lambda) \, dx + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 - pg(u_\lambda(1)) \\
&\leq pE(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_W + \frac{p}{\theta} \|u_\lambda\|_W^p \\
&\quad + \frac{p}{\theta} c(u_\lambda(1)) \phi_p(u_\lambda(1)) u_\lambda(1) + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 - pg(u_\lambda(1)) \\
&= pE(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_W + \frac{p}{\theta} \|u_\lambda\|_W^p + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 \\
&\quad + \frac{p}{\theta} (c(u_\lambda(1)) |u_\lambda(1)|^p - \theta g(u_\lambda(1))) \\
&\leq pE(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_W + \frac{p}{\theta} \|u_\lambda\|_W^p + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 - p \frac{\tilde{\theta}_1}{\theta}. \quad (4.3)
\end{aligned}$$

Finally, if we choose $\lambda \leq (\tilde{\theta}_1/M_0)^{-1/rp}$, then $-\tilde{\theta}_1 \leq M_0\lambda^{-rp}$, so that

$$\begin{aligned}
\|u_\lambda\|_W^p &\leq pE(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_W + \frac{p}{\theta} \|u_\lambda\|_W^p + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 - p \frac{\tilde{\theta}_1}{\theta} \\
&\leq pE(u_\lambda) + p\lambda k |f(0)| \|h\|_1 \|u_\lambda\|_W + \frac{p}{\theta} \|u_\lambda\|_W^p + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 + p \frac{M_0\lambda^{-rp}}{\theta}. \quad (4.4)
\end{aligned}$$

By the mountain pass characterization of u_λ ,

$$\begin{aligned}
E(u_\lambda) &\leq \max_{s \geq 0} \{E(sv_1)\} \\
&= \max_{s \geq 0} \{J(sv_1)\} \\
&\leq \max_{s \geq 0} \left\{ \frac{s^p}{p} - \lambda A_1 s^{q+1} \hat{h} \|v_1\|_{q+1}^{q+1} + \lambda A_1 \|h\|_1 \right\}, \quad (4.5)
\end{aligned}$$

by (3.2).

Now, note that the inequality (4.5) is identical to the inequality (3.6), except that the functional J has now been replaced by the functional E . Hence, we may conclude from (4.5) that

$$pE(u_\lambda) + p\lambda \frac{\tilde{\theta}}{\theta} \|h\|_1 \leq \tilde{c}_3 \lambda^{-rp}, \quad (4.6)$$

where

$$\tilde{c}_3 = \bar{K}^p - pA_1 \hat{h} \bar{K}^{q+1} \|v_1\|_{q+1}^{q+1} + p \left(A_1 + \frac{\tilde{\theta}}{\theta} \right) \|h\|_1$$

as in lemma 3.8.

Hence, following the proof of lemma 3.8, we may combine (4.3) and (4.6) to observe that

$$a \|u_\lambda\|_W^p \leq b \lambda \|u_\lambda\|_W + \tilde{C}_3 \lambda^{-rp}$$

for $a = 1 - p/\theta > 0$, $b = pk|f(0)|||h||_1 > 0$ and $\tilde{C}_3 = \tilde{c}_3 + pM_0/\theta$. Now, choosing $\lambda \leq a/2b$ and taking $C_3 = 2\tilde{C}_3/a$, we may follow the proof of lemma 3.8 to conclude that

$$\|u_\lambda\|_W^p \leq C_3\lambda^{-rp}$$

for all $\lambda \in (0, \Lambda^*)$, where

$$\Lambda^* = \min \left\{ 1, \hat{\lambda}, \left(\frac{|\tilde{\theta}_1|}{M_0} \right)^{-1/rp}, \frac{\theta - p}{2\theta pk|f(0)|||h||_1} \right\}. \quad \square$$

4.2.1. Proof of theorem 1.2

We again prove the theorem by contradiction. Suppose that there exists a sequence $\{(\lambda_j, u_{\lambda_j})\}_{j=1}^\infty \subset (0, 1) \times C^1[0, 1]$ of mountain pass solutions to (NL), as in theorem 4.3, such that $\lambda_j \rightarrow 0$ and $m(\{x \in (0, 1) \mid u_{\lambda_j}(x) \leq 0\}) > 0$.

Let $w_j = u_{\lambda_j}/\|u_{\lambda_j}\|_\infty$. Then

$$\left. \begin{aligned} -(\phi_p(w'_j))' &= \lambda h \frac{f(u_{\lambda_j})}{\|u_{\lambda_j}\|_\infty^{p-1}}, \quad x \in (0, 1), \\ w_j(0) &= 0, \\ \phi_p(w'_j(1)) + c(u_{\lambda_j}(1))\phi_p(w_j(1)) &= 0, \end{aligned} \right\} \quad (4.7)$$

and, as in the proof of theorem 1.1, $w_j \rightarrow w$ strongly in $C^1[0, 1]$ with w satisfying

$$\left. \begin{aligned} -(\phi_p(w'))' &= z, \quad x \in (0, 1), \\ w(0) &= 0, \\ \phi_p(w'(1)) + c(L)\phi_p(w(1)) &= 0, \end{aligned} \right\} \quad (4.8)$$

where $L = \lim_{j \rightarrow \infty} u_{\lambda_j}(1)$.

Since $\|w_j\|_\infty = 1$, $w \not\equiv 0$. Furthermore, since $z \geq 0$ and $c(L) > 0$, w is concave and satisfies the nonlinear boundary condition at $x = 1$ so that $w'(0) > 0$, $w'(1) < 0$, $w(1) > 0$, and $w > 0$ in $(0, 1)$. The conclusion follows from the same argument as in the proof of theorem 1.1.

Acknowledgements

R.S. was partly supported by the Simons Foundation (Grant no. 317872). I.S. was supported by the National Research Foundation of Korea Grant funded by the Korea government (Grant no. NRF-2015R1D1A3A01019789).

References

- 1 R. Adams. *Sobolev spaces* (Academic Press, 1975).
- 2 W. Allegretto, P. Nistri and P. Zecca. Positive solutions of elliptic nonpositone problems. *Diff. Integ. Eqns* **5** (1992), 95–101.
- 3 A. Ambrosetti and P. H. Rabinowitz. Dual variational methods in critical point theory and applications. *J. Funct. Analysis* **14** (1973), 349–381.
- 4 A. Ambrosetti, D. Arcoya and B. Buffoni. Positive solutions for some semi-positone problems via bifurcation theory. *Diff. Integ. Eqns* **7** (1994), 655–663.
- 5 V. Anuradha, D. Hai and R. Shivaji. Existence results for superlinear semipositone BVPs. *Proc. Am. Math. Soc.* **124** (1996), 757–763.

- 6 D. Arcoya and A. Zertiti. Existence and non-existence of radially symmetric non-negative solutions for a class of semi-positone problems in an annulus. *Rend. Mat. Appl.* **14** (1994), 625–646.
- 7 F. E. Browder. Nonlinear elliptic boundary value problems and the generalized topological degree. *Bull. Am. Math. Soc.* **76** (1970), 999–1005.
- 8 S. Caldwell, A. Castro, R. Shivaji and S. Unsurangsi. Positive solutions for classes of multiparameter elliptic semipositone problems. *Electron. J. Diff. Eqns* **2007** (2007), no. 96.
- 9 A. Castro and R. Shivaji. Nonnegative solutions for a class of nonpositone problems. *Proc. R. Soc. Edinb. A* **108** (1988), 291–302.
- 10 A. Castro and R. Shivaji. Non-negative solutions for a class of radially symmetric non-positone problems. *Proc. Am. Math. Soc.* **106** (1989), 735–740.
- 11 A. Castro, D. G. de Figueiredo and E. Lopera. Existence of positive solutions for a semi-positone p -laplacian problem. *Proc. R. Soc. Edinb. A* **146** (2016), 475–482.
- 12 D. de Figueiredo, J.-P. Gossez and P. Ubilla. Local ‘superlinearity’ and ‘sublinearity’ for the p -Laplacian. *J. Funct. Analysis* **257** (2009), 721–752.
- 13 R. Dhanya, Q. Morris and R. Shivaji. Existence of positive radial solutions for superlinear, semipositone problems on the exterior of a ball. *J. Math. Analysis Applic.* **434** (2016), 1533–1548.
- 14 L. Gasinski and N. S. Papageorgiou. *Nonsmooth critical point theory and nonlinear boundary value problems* (Boca Raton, FL: CRC Press, 2004).
- 15 D. D. Hai. Positive radial solutions for singular quasilinear elliptic equations in a ball. *Publ. RIMS Kyoto* **50** (2014), 341–362.
- 16 D. D. Hai, K. Schmitt and R. Shivaji. Positive solutions of quasilinear boundary value problems. *J. Math. Analysis Applic.* **217** (1998), 672–686.
- 17 J. Smoller and A. Wasserman. Existence of positive solutions for semilinear elliptic equations in general domains. *Arch. Ration. Mech. Analysis* **98** (1987), 229–249.